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����������
�� ∗�6,� ∗�D�� 1�6�� ��8D� ��D1� ��86� ��>D� ��8Ε� ∗�∗∗� ��DΕ� ,81.� 1875� −861�

∀����
�������
���� 1�6>� 1�61� 1�6,� ∗�DΕ� 1�∗Ε� 1�,D� 1��>� 1�∗�� 1�>D� 1�68� 583,� 5821� −85−�

��������!������������������ 1�∗1� ,�,,� 1�>D� 1�,+� ∗�6�� ∗�,1� 1��+� ∗�+�� ∗�DΕ� 1�+>� 5811� 581−� −84,�

&��������������� ∗�6,� ∗�,6� ∗��1� ∗�6,� ∗��D� ∗�+8� ��DΕ� ∗�1,� ∗�68� ∗�6,� ,85,� ,83−� −8,2�

∀����
����∃∃
�0����� ,�>>� 6�,1� ,�DΕ� ,�1∗� ,�81� ,�6,� 6�,6� 1�86� ,�Ε8� 6�∗�� 3847� 38.,� −822�

���������������∗� 1�88� ∗�D6� 1�>+� 1�+∗� 1�+�� 1�Ε>� ∗�,D� 1�8+� 1�8Ε� 1�DΕ� 5857� 5865� −82−�

/��������������� ∗�6,� ��>>� 1�+�� ∗��+� ��8,� ∗�∗1� ��D8� ∗�,1� ∗�6,� ∗�>>� ,855� ,855� −836�

&����������� ��DD� ��D∗� ��>>� +�>Ε� ���6� ��86� ��∗�� ∗�∗�� ��,1� ��68� 1827� 1861� −83−�
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